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Note:	 The question paper is divided into three sections A, B and 
C. Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
Very Short Answer Questions (Compulsory)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
A{V bKw CÎmar¶ àíZ (A{Zdm¶©)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 Write the full form of “COS-MOS”.

		  “COS-MOS” H$m nyU© ê$n {bImo&

	 (ii)	 “CMOS has greater value of “Fan Out” in comparision 

with DTL.” Is this statement true?

		  DTL H$s VwbZm ‘| CMOS H$m “Fan Out” ‘mZ A{YH$ hmoVm h¡ ³¶m 
¶h H$WZ gË¶ h¡?

	 (iii)	 What do you mean by “Memory Cell”?

		  ""‘o‘ar H$moe'' go AmnH$m ³¶m A{^àm¶… h¡?

	 (iv)	 What do you mean by “EEPROM”?

		  ""EEPROM'' go AmnH$m ³¶m VmËn¶© h¡?

	 (v)	 Write the word length of Pentium 4 Microprocessor in 

terms of bit.

		  bit Ho$ nXm| ‘| nopÝQ>¶‘ 4 ‘mBH«$moàmogoga H$s eãX bå~mB© {bImo&

	 (vi)	 What is the use of “Operation Command Words” (OCWs) 

for 8259?

		  AmnaoeZ H$‘mÝS> dS>© (OCWs)  H$m 8259 Ho$ {bE ³¶m Cn¶moJ h¡?

	 (vii)	What do you understand by “Flag Register” for 8086?

		  8086 Ho$ {bE âboJ a{OñQ>a go AmnH$m ³¶m VmËn¶© h¡?

	 (viii)	What does mean “INC” (Increment) of arithmatic Instruction 

for 8086?

		  “INC” (Increment) H$m ³¶m VmËn¶© h¡?
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎma dmbo àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Explain the working of Diode Transistor logic circuit (DTL).
	 S>m¶moS> Q´>mpÝOñQ>a bmo{OH$ n[anW (DTL) H$s H$m¶©{d{Y g‘PmAmo&

3)	 Explain the “Rotating Priority Mode for 8259”.
	 8259 Ho$ {bE ""amoQ>oqQ>J {à¶m[a{Q> {dYm'' H$mo g‘PmAmo&

4)	 Discuss the virtual 8086 mode.
	 H$mën{ZH$ 8086 {dYm H$s {ddoMZm H$amo&

5)	 What do you mean by RAM? Explain different types of RAMs.
	 RAM go AmnH$m ³¶m VmËn¶© h¡? {d{^Þ àH$ma Ho$ RAMs H$mo g‘PmAmo&

6)	 What do you understand by “Input/output Handshaking”?
	 “Input/output Handshaking” go AmnH$m ³¶m VmËn¶© h¡?

7)	 Discuss the Bit set/Reset feature of 8255.
	 8255 Ho$ Bit set/Reset JwU na àH$me S>m{bE&

8)	 What is “Program counter” for 8085?
	 8085 Ho$ {bE “Program counter” ³¶m h¡?

9)	 Explain the “Pipelined Floating Point Unit” for pentium processor.
	 nopÝQ>¶‘ àmogoga Ho$ {bE ""nmBnbmBZS> âbmoqQ>J nmoBÝQ> ¶y{ZQ>'' H$mo 

g‘PmAmo&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎma dmbo àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& AmnH$mo AnZo CÎma H$mo A{YH$V‘ 
500 eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Explain the following:

	 (A)	 CPU (Control Processing Unit)

	 (B)	 Operation of Emitter coupled logic.

	 {ZåZ H$mo g‘PmAmo…
	 (A)	 Ho$pÝÐ¶ àmogoqgJ BH$mB© (CPU)

	 (B)	 CËgO©H$ ¶wp½‘V Vm{H©$H$ H$s H$m¶©àUmbr 

11)	 What do you understand by “Memory Architecture”? Describe 

the write operation and read operation.

	 ‘o‘ar Am{H©$Q>o³Ma go AmnH$m ³¶m VmËn¶© h¡?
	 Write Operation VWm Read Operation H$m dU©Z H$s{OE&

12)	 Describe the Addressing modes of 8085.

	 8085 Ho$ gå~moYZ {dYmAmo§ H$mo g‘PmAmo&

13)	 Explain the instruction cycle, machine cycle and T state.

	 {ZX}e MH«$, ‘erZMH«$ VWm T AdñWm H$mo g‘PmAmo&


